ARRFREGEHEES 108 20 B ¥ R & H % M E 578 t

| [BF3% 391 t ] | T [R=E 187 t ]
B ATMEIRIBISE B 40 % TN B AWEIXRIBEEEE 31 % RE
B B-FAR)
3t | K | S =

| T H FEEM | B A | & & Z fE r = FEEH | B O | & Z B

BT C RO 200 g 86 75 | BA FOEk L 10 ke 3, 240 1, 620

LA = B 250 g 97 |- — | o3 — — — =

¥k ® | 200 g 75 54| Eim | — . .= — | —

I NAE S = B 200 g 140 64 | BE WMEARES) | X B 10 ke 5, 400 3, 240

CBRE _ = B 8 ke 3,024 — | JIREA TR L 7.5 ke| 2,160 | - 1,080

LwAE = R 150 ¢ 140 64 | El& E & 350 g 518 =

S _ — _ - <0 _ _ — -

ZUNT A T & 10 ke| . 1,296 864 | T—I/LAA @Y B[ 9 ke 7,776 6, 480

FEVEICA CA - Ab¥EE 10 ke 2, 592 2, 160 -

(<& = B 15 ke 2, 160 1, 080
XY # 5 10 ke 1, 080 540
LR KR 10 ke 4, 320 2, 700
XwH Y- =% 5 ke 2, 376 —
ASCH = B 5 ke 1, 728 1,512
k< k AE K 4 ke 2, 700 —
B = IR 150 g 75 64
v x AbHEE 10 ke 1,296 864
mERE ki 20 ke 2,160 | 1,836
£ LW B 100 g 162 129
F071F o E@ 1 ke| 19,440 9, 720
Lo & B 100 ¢ 64 37




Z BB o {5 R O 108 21H @ @ Kk B % & 8 = &% & 42 t

BB AWEREAMBESAL 2 %® Az (@A 23t ] [Bo 7t ] [EF 12t]
| B A0l (BhAH)

B - £ ey | +
AT E FEEM | B | & A Z fE | & H FEEM | B | & & % B

EFESCAHEHE KFEE | 1ke 2, 808 1,620 | B - F ) 1 ke 2, 592 1, 080
WESAHLE KL 1ke | 1,296 | — | HEHA IV o — 1 kg 1, 080 432
V4 FoEk L 1 ke 648 216 | ¥ Z = =R 1 ke 2, 592 1, 296
A CE: 1ke 1, 620 216 | A MEL | 1ks | 1,058 -
AUy = B 1ke 583 259 | FVU A B E 1 ke 4, 320 1,188
ANVAA T 1. 1ke 939, 853 | BT = JbvEE 14 248 54
fENeTF FRER L 1 ke 1, 620 194 |

&Z A = & 1 ke 1,188 540

& & = & 1 ke 2, 700 1, 944

INE A0 L 1ke 1, 620 324

T K& 1 kg 1, 728 572

s R B 1ke 2, 808 410

1 A = Fn 1 ke 2, 484 972

&7 B 1 ke 2,538 1, 458




